usl*CurMon:Entry$ usl*CurMon {ErrorFlag==0} asym_usl/ppm:pattern_number {ErrorFlag==0) asym_usl

c N Entries 53644
e I evtlree 10000}~ ) 500 _
E‘r : ' - _ - X % xx X a J Mean ~-8.671
2 10000}— Entries 214673 TTT o BT T8y ST 5% I J}I
= ] | - 45':'__ otd Dev 1619
I Mean 5.617 5000 - I
8000— 1 - UJ 1 Underflow 6887
i Std Dev  0.03336 il 4DD_— I Overflow 6826
6000~ 0 HHHHHHHEREL LA I _ ) H
- i 350 —
- T 4000 ! I hd
: ! -5000 {1 I
i B : 11 L1711 111111 1L Lt 300 I
— : 2000— L3 ow L Lthwexl owdd Lo Ldndgld
i l Llwk : o X Lk T xTxg
i - 4 * O ) B
: - — e et |
- EE B2 3 ! 10000 |- X I
: ME = 4 I III|III|III|III:":1U DIIlIIIIlIIII I|I III|II I||IIII IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII 25—IIII|IIII|IIII|IIII|IIII|IIII
0 D0 150 200 250 00 54 545 55 555 56 565 57 575 58 0 10000 20000 30000 40000 50000 60000 70000 80000 000 -2000 -1000 0 1000 2000 3000
Entry$ usl*CurMon pattern_number ppm

run6352 000 maindet usl.png



asi Lurmvion

....
pele |0
i

E
:1_:"' HE
AN g

50

dsl*CurMon:Entry$

i .

run6352 000 maindet dsl.png

<1
Ak
uly
<]
L

=1
AL
<L

LT
K
HE

<1
Ak
<]
<]
Ak
<]

Ak
<]

150

+1
Ak
+1
Ak

e
Ak
1>

g
AE
=1
AE
=1

T250

300

Entry$

10000

8000

6000

4000

2000

dsl*CurMon {ErrorFlag==0}

evilree

Entries 214673

Mean -3.843

Std Dev  0.01102

IJ.III

-3.8
dsl*CurMon

1500

1000

500

-500

—-1000

-1500

asym_dsl/ppm:pattern_number {ErrorFlag==0}

;J}(}{Hl 1
W

| W
| e

| =
|

T
VARV,

| %5

|55

1 1 1 1 1
|

]

e

| s
VT
VIRV

| R
|
| W

{20 =

4
T

| |
60

pattern_number

000 70000 80000

asym_dsl

. Entries 53644
4000

- Mean 1.647
3500

- Std Dev 325.2

3000 - Underflow 0

2500 — Overflow 0
2000
1500
1000
500

D : L1 1 1 | L1 1 I I | L1 1 1 L1 | | 1 1 |
-3000 -2000 -1000 0 2000 3000
ppm




USr*CUFMOn:EI‘ITFY$ usr*CurMon {ErrUrF|ag== } asym_ust/ppm:pattern_number {ErrorFlag==0} asym_usr

c = Entries 53644
5. ; evtliree| oo ﬁ . :
S B 10000— _ w |2 LT S X 440~ Mean 4.32
2 : i Entries 214673 T Tt xrrortl Tl TTTT 7T - .
W 1 - TT_ ~ ]
2 _ i _ _ 420¢ Std Dev 1659
: ) I Mean 5.64 5000 - o [
8000 - 400 _ Underflow 8210
: I Std Dev  0.03521 Hrsaannnd Lol Nsaa L sodandannsaassinhan 380 ‘J ' [ | || Overflow 8288
‘ EDDD_— 0 BrEEREAHEEERRREEEEEE B REHREEERE B R R BEHE BED:— \]J H 1
i : I i 340
i i 4 4000 — ! - |
N - 5000 | 320
- 3 - S AL LA 300
— i 2000~ 1LtLiL o L omx L4l x =
i B i, Lo Loxg, xox xs el
- : 10000 "> X x i
i .ﬁ.:f.:i.: L 11 1 “ L 1 1 | | 1 “ | 1 1 | I 1 1 :":1“3 D_III |III I|I |IIII| 1 111 |III I|II | II_I|III _III | | L 111 | | 1 II| 1 11 I|I 1 11 |II | 1 | L 11 1 | 111 EEU__l 1 1 | I I | I I | I I | l 1 1 1 | L 11 1
00 150 200 250 00 545 55 555 56 565 57 575 5.8 0 10000 20000 30000 40000 50000 60000 70000 80000 3000 -2000 -1000 0 1000 2000 3000
Entry$ usr*CurMon pattern_number ppm

run6352 000 maindet usr.png



dsr*CurMon:Entry$

= ¥E
o B 1
= -
_ |
= -
2 0.5+
— |
Y |
o n
-1 —
—2 x| 3 :
_2. ::
-3.5¢ : ]
N .ll..r - il -".l.."j... PSP PR TCT| SRR ST T N ..u-.-...:“: Lo | | 1 1
50 100 150 200 250 300
Entry$

run6352 000 maindet dsr.png

x10°

8000

7000

6000

5000

4000

3000

2000

1000

dsr*CurMon {ErrorFlag==0}

evilree

Entries 214673

Mean -3.767

Std Dev  0.01386

-3.74 -3.72

dsr*CurMon

asym_dsr/ppm:pattern_number {ErrorFlag==0}

_ P
1500~ b 8 b
5 e ok %%
[ % % THEN X X
1000 TITTT TETTTTTT
500 f-
-500 {-
~1000 | LLL] INNERNRRNE-ARN NN
-l X X gxx X KX X XX
" % % % % %% X x
T % % %
~1500 « &
~2000
_|||||||||||||||||||||||||||||||II|IIII
0 10000 20000 30000 40000 50000 60000 70000 80000

pattern_number

asym_dsr

3500 - Entries 53644

B Mean —0.6416
3000~

- Std Dev  383.8

25001 Underflow 0

2000 :_ Overflow 0
1500 —
1000
500~

D B | I 11 I I | | [ I | 1 | | I |
—3000 2000 —1000 0 1000 2000 3000
ppm




yield usl:pattern number {ErrorFlag=

-0}

0.0386

0.0384

0.0382

0.038

0.0378 i 4N

0.0872[88
0.037}"

0.0368

m—

II|II
10000

run6352 000 pairTree usl.png

0000 30000 40000 50000 60000 70000 80000
pattern_number

5000

4000

3000

2000

1000

yield_usl {ErrorFlag==0}

htemp

Entries 107317

Mean 0.03774

Std Dev 0.0001731

l J-||III|

D_IlllllllllllII|IIII|IIII|III

=l

|
03D. DB?E ﬂ H 037®.03% DBBE 0388.0386

Ca—
T -

yield usl

asym_usl/ppm:pattern_number {ErrorFlag==0}

15000
SE x
- XXT
10000 735 Soxx & E i
[ | [ x5 TXTXTTTT
5000 [
-5000 [t
f || mAliAbd!
IR S Hox g
10000 (1| L X ORXK
H Lxx *
x 1
S
15000 —
||||||||||||||||||||||||||||||||||||||
0 10000 20000 30000 40000 50000 60000 70000 80000

pattern_number

4500

4000

3500

3000

2500

2000

1500

1000

500

asym_usl/ppm {ErrorFlag==0}

D l

PairTree

Entries 107317

Mean -10.13

Std Dev 3103

III|IIII|IIII|III IILI|

-15000 10000 -5000 0 5000 10000 15000

asym_usl/ppm



yield_dsl:pattern_number {ErrorFlag==0} yield_dsl {ErrorFlag==0} asym_dsl/ppm:pattern_number {ErrorFlag==0} asym_dsl/ppm {ErrorFlag==0}

0.0256 — h - ‘

: _ 4000F temp b - _ PairTree
025651 3500 Entries 107317 T T T T 2500 Entries 107317
0.0257 5 2000 ] I

R A 3000~ Mean  —0.02582 I I Mean 1.632
02575 : co0oll| L | 2000

g 25001 Std Dev 5.0116-05 o - StdDev 1072
0.0258 2000 U%EEEEEZSEEZEEEE::EESE:EEEE:EEEEEEEEEE 1500~
02585 - i il i Sy T i

i 1500 - ~1000 | TRHUTYTTHU L TUUS TR ST 777 (Y1 TY T 1L 1000
0.0259 Y | 1000 ; i

- L - —2000 - 1 1 B
02595} f cool i AR R RN AR AR >00~
-0.026 E - —3000~ ' ' I

_IIII|IIII|IIII|IIII|IIII|I-III|I'III|IIII IIII|I IIII|IIII|IIII|IIII|IIII|II |IIII| IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII DIIL ||IIII|IIII|IIII|IIII|I I|I|

10000 20000 30000 40000 50000 60000 70000 80000 ~0.02665.020.02596.0250.02596.0258 02576.0250.02566.0256 0 10000 20000 30000 40000 50000 60000 70000 80000 -3000 —2000 -1000 O 1000 2000 3000
pattern_number yield_dsl pattern_number asym_dsl/ppm

run6352 000 pairTree dsl.png



0.039

0.037

yield usr:pattern_number {ErrorFlag==0}

[ 1 | [ 11
10000 20000 30000 4 DD 5
pattern_number

run6352 000 JJairTree_usr.png

DDD 70000 80000

6000

5000

4000

3000

2000

1000

yield_usr {ErrorFlag==0}

htemp

Entries 107317

0.0379

Mean

Std Dev  0.0001826

D_

[ 1
0.0385

l
0.039
yield usr

15000

10000

5000

-5000

10000

15000

':’_l TTF

asym_usr/ppm:pattern_number {ErrorFlag==0}

[
ks

|||||i|||=|
| =
|

{ =
oW

e
Lo
L

kY
ke

R,

XK X
555
%

| W

(i VL

[ I
17 1
0 1
I B I
10 1
10 1
I ¥
I D
I I

:;;

T
x P
TTRXHHRK X
HHHK T

[}

}{“___
.

2}{}{

101
101
11
I
I | B
T 1
01
I |
I N

1 i ] I

| n'] |

i ]

#

KK
T

HUEHE

s
TAHKE E
HEAEAT

1
1

I |
1
I
0 1
01
I
I

| i }

§KHRHHHKH

#

)4

R
R

20X
pesd
x
25

[ 1 | L 111 | L 111 | L 111 | L 111 | L 111
10000 20000 30000 40000 50000 60000 70000 80000
pattern_number

4000

3500

3000

2500

2000

1500

1000

500

asym_usr/ppm {ErrorFlag==0}

PairTree
Entries 107317
Mean 12.05

Std Dev 3395

LII|II

-15000 -10000 -5000

0

5000

10000 15000
asym_usr/ppm




yield dsr:pattern_number {ErrorFlag==0}

0.0251—

0.0252 (44 :

0.0254/- 5 |

0.0255

run6352 000 pairTree dsr.png

[ 1 | [ 11
10000 20000 30000 40000 50000 60000 70000 80000
pattern_number

yield_dsr {ErrorFlag==0}

3000
i Entries 107317
2500 Mean  —0.02531
2000— Std Dev 6.973e-05
1500 —
1000
500
B | I | L 11
_0D256 —0.0255 —0.0254 —0.0253 —0.0252 —0.0251
yield dsr

asym_dsr/ppm:pattern_number {ErrorFlag==0}

X
XK K % X X % X
2000 = v WK WooW w 33
e % W N W wrdBM % X owx Mxx xkX
WM M S O S e 2 0 M M O e e M e e N e X
EX TR TR R NE X | TET T TXTXT XX G XX G R T T
1000+

-1000

0
g
1

-2000

[ 1 | L 111 | L 111 | L 111 | L 111 | L 111 | L 111 | L 111
10000 20000 30000 40000 50000 60000 70000 80000
pattern_number

-3000

- [ | | T Ej&:’:l T T T T T |
— |
=

asym_dsr/ppm {ErrorFlag==0}

s500F- PairTree
4000 é_ Entries 107317
3500 i— Mean  -0.6335
BDDD;_ Std Dev 542.2
zﬁnnf—
EDDDf—
‘IEEIEIf—
mnnf—
500
.D:""l Ll P L 11
-3000 -2000 1000 0 1000 2000

asym_dsr/ppm



asym_usl

asym_dsl

asym_usr

asym_dsr

run63s52 000

0.01 _laoe 0.01 Ao 0.01
- i o I _s0oc
- - —35( -
I —35¢ i I
B B —30¢ _ B
n.nn5_ B0 n.m::-5_ n.m::-5_ 40(
i i 25( i
, , , 30(
O O 200 O
I i 15¢ ; 20(
-0.005 ~0.005 ~0.005
I i - 10¢ I
N N N 10¢
I I - I
- - . . . -
—0.01 —0.01 —0.01
| 1 | | | | | | | | | | 1 | | | | 1 | | L1 | | L1 L1 | | L1 | | | L1 | I L1 L1 | | L1 | D | | | | | | | | | | | | | | | | D
—0.01 —0.005 0.005 0.01 —0.0015 —-0.001 —0.0005 O 0.0005 0.001 0.0015 —0.01 —0.005 0.005 0.01
asym_usl asym_dsl asym_usr
0.001 )_f . 0.001 y_ 0.001 y_
n ] n n
_ _ _ —45( _ —35(
0.001 i 0.001 o 0.001
- - . —30¢
, —30( , ,
_ _ —35( _
).0005~ ).0005— ).0005— -
N oL oL 20(
. m N N
. r i i 15(
).0005 1.0005 1.0005
- - 15¢ -
i i i 100
- - 10¢ -
—0.001 —0.001 —0.001
- - - 50
- - 50( -
].ﬂﬂ15 i | | | | | | | | | | | | | | | | | | | :I.ﬂﬂ i L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 I L1 1 1 | L1 1 1 D :I..ﬂﬂ15_ | | | | | | | | | | | | | | | | D
—0.01 —0.005 0.005 0.01 —31.50::}15 —0.001 -0.0005 O 0.0005 0.001 0.0015 —0.01 —0.005 0.005 0.01
asym_usl asym_dsl| asym_usr
0.01 0.01 0.01
: —50( : [ | T : _|a5¢
- - —30¢ - |
0.005— _aoc 0.005— 0.005— 30¢
i i —25( i —25(
] 30( ] ]
O O 200 O 200
I 20¢ I 15 I 15(
_0.005 _0.005 u _0.005
- - 10¢ - 10¢
I 10¢ I I
I ; 50 - 50(
—0.01 —0.01 —0.01
- - . -
| 1 | | | | | | | | | | 1 | | | | 1 | D | I . | | | I | | | I . | | | I . | I L1 1 1 | | I . | D | | | | | | | | | | | | | | | D
—0.01 —0.005 0.005 0.01 —0.0015 —-0.001 —0.0005 O 0.0005 0.001 0.0015 —0.01 —0.005 0.005 0.01
asym_usl asym_dsl asym_usr
y — —45 y — = y —
- m - 50( C -
0.0015F 0.0015F 0.0015F _aoc
- —40¢ - -
n.nm:— s n.nm:— _laor n.nm:— —35(
J.0005F 30 1.0005F J.0005 ® 30
- - 300 -
0= = 0F 25(
- - - 20(
).0005 1.0005F 1.0005F
B B 200 B
- - - 15¢
-0.001F -0.001F ~0.001F
E E E 10(
.0015 2.0015F 10¢ 2.0015F
- - - 50
-n.0021— = -0.002— u -0.002—
C NN NN N I I B | I
—0.01 D U{E —n DDE 0.005 0.01
asym_usr

asym main

det ‘matual correlation:COLZ.

png

asym_dsr

—45(
0.01 .
i —40(
- —{35(
0.005—
i _I30¢
- m
D_
_0.005
i 50
oo | | | | | | |
—0.002-0.0015-0.00+0.0005 0 0.0005 0.001 0.0015
asym_dsr
7.001 y_ e
0.001
§ —l40(
7.0005
. m
D_
7.0005
~0.001—
:]..ﬂﬂ15_lllllIlIllllllllllllllllllllllIllllllll

—0.002-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015

asym_dsr

0.01
; —40(
i —35¢
0.005
- —30(
ol ®
B [ |
-0.005}
-0.01+ 20
_I | 11 11 | | | | L 111 | 11 11 | 1 1 11 | 11 11 | | | | 11
~0.002-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
asym_dsr
0.0015F =0
0.001
- —40(
).0005
O 30(
).0005
- 20(
-0.001F
).0015F 10(
-0.002 ™
_I | 11 11 | | | | L 111 | 11 11 | 1 1 11 | 11 11 | | | | 11
~0.002-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015

asym_dsr



asym_usl

asym_dsl

asym_usr

asym_dsr

run63s52 000

asym_usl

12 [ ndf 53.86 / 44
p0  1.359e-07 + 2.856e-07

P 0.9954 = 0.0001

-0.005— ¥

asym_usl

0.005

0.3

_'_

0.2

0.1

R T—

-0.1

-0.2

-0.3

-0.4

-0.5

¥ ndi

31.85/ 44

po 1.588e-06 £ 1.431e-06

p1 -0.0003292 + 0.0006123

Cor factor

—-0.0010

|

asym_usl

¥Z | ndf 247.7 | 44
p0 1.6956-05 + 7.801e—06

p1 0.872 + 0.003

Cor factor 0.7789

o oTE

=
(]
e
=
L L L O B LB O

asym_usl

0.005

0.6

0.4

0.2

-0.2

-0.4

-0.6

=
T T 1 T T 1 T T T T 1 T T 1 T T 1 T T 1 T T 1
I I I I I I I

R T—

By I =

¥ ndi

34.51 / 44

po -5.804e-07 £ 1.685e-06

p1 -0.0009274 + 0.0007265

Cor factor

—0.0075

IIIIIIIMWW it

asym -0.01  -0.00§

malnﬂefﬂﬂﬁ

0.01

: ¥? / ndf 40.9 / 42
0.002 B p0 ~1.209e-05 + 1.135e—05
] p1 —0.008299 + 0.039203
[ Cor factor -0.0010
O I I I H—II:IIIIIIFI;Ii ||+| bt —
R T
-0.002—
-0.004
-0.006 | | | | |
-0.0015 -0.001 -0.0005 0 0.0005 0.001 0.0015
%2 | ndf 53.73/ 42 =
p0  3.825e-09+3.814e-08 =
p1 0.9981+ 0.0001
ol
2.0005
—0.001
_I I‘I l I L1 1 1 I 1 1 1 1 I 1 1 1 1 I L1 1 1 I 1 1 1 1
-0.0015 -0.001 -0.0005 0 0.0005 0.001 0.0015
¥* ! ndf 47.08 / 42
p0 9.8342-06 + 1.2492-05
p1 0.05722 £ 0.04324
Cor factor 0.0057 1
u ] i H
o IIIIIIIJ[IIIIIEHII%WIIIIJ[II} {
~0.001F I I[
-0.002 [ )
-0.003
-0.004
_Dlﬂﬂ'ﬁ__lIIIIIIIIIIIIIIIIIIIIIIIIIIII
-0.0015 -0.001 -0.0005 0 0.0005 0.001 0.0015
" %2 ! ndf 48.53 / 42
0.3
" p0 3.8e—08 + 1.7e—06
0.2
B p1 0004468 + 0.005858
0.1~ Cor factor 0.0004
: ) |'I'-|]-H|I|I ‘H“H'I ‘ ‘
0 1 T 15
n ]IHHIIIII T | +II II |
-0 I
-0.2F I
-0.3F
-0.4 I I
_I 1 1 1 I I I | I 1 1 1 1 I 1 1 1 1 I L 1 1 1 I 1 1 1 1

0.0005

mutualwémﬁrre

0.001

lation-

fit. png

asym_usr

¥/ ndf

Cor factor

208.4 /45
pO -1.791e-05 + 7 .0BBe—06
p1 0.7159 = 0.0027

0.7789

-0.002
-0.004
-0.006

* #III*II

-0.008

++I+IIIIIIII

-0.01 —0.005

asym_usr

0 0.005 0.01

¥? { ndf

Cor factor

45.44 /45
pO 1.726e-06 + 1.429e-06
p1 0.0006921 £ 0.0005519

0.0057

-0.2—

—0.4|-

-0.6

o II IIIIIIIIIW%ﬂIIHIHI

-0.01 —0.005

asym_usr

2 { ndf

46.6 / 45

po 2.132e-07 = 3.064e-07

p1 0.9994 = 0.0001

-0.005—

-0.01— -

-0.01 —0.005

asym_usr

0 0.005 0.01

0.4

0.3

0.2

0.1

-0.1

-0.2

-0.3

_IIIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|III

2/ ndi 56.26 / 45
po ~1.148e-06 + 1.685¢06
p1 ~0.0008826 + 0.0006510

Cor factor —0.0055

I

-0.01 —0.005

asym_dsr
n %2 / ndf 39.84 /33
0.002 :— pO —9.095e—-06 + 1.138e05
B p1 007383 + 0.03412
0.001 _
- [ Cor factor -0.0075
S + “‘
of I IIHIIW%%IIII |
—n.nm:— I ]
-0.002F
-0.003F

—0.0020.00150.0040.0005 0 0.00050.0010.0015

aﬂm_dsr

0.6—

0.4—

¥/ ndi 31.92/33
p0 1.526e-06 + 1.438e-06
p1 —0.0005845 + 0.0042683
Cor factor 0.0004

F

! }
_p.2
_0.4
T I L1 11 I L1 11 I L1 11 I L1 11 I L1 11 I L1l 11 I L1 11 I L1 11
—0.0020.00150.0040.0005 0 0.00050.0010.0015
0.003F
. 2 { ndf 62.17 /33
[ B0 1.4216-05 + 1.253-05
0.002
[ p1 —0.05687 + 0.03747
0.001— - } Cor factor —0.0055
[ s I 1 1
T |t 1
I i |f ¥ _
_0.001 I
_0.002-
_0.003 -
1 11 I L1 11 I L1 11 I L1 11 I L1 11 I L1 11 I L1 11 I L1 11 I L1 11
—0.0020.00150.0040.0005 0 0.00050.0010.0015
).0015F p
B Entries 53644
0.001
B Mean —6.416e -07
).0005
N Meany -6.416e 07
O
- Std Dev  0.0003838
1.0005
- . Std Dev y 0.0003838
~0.001F =
1.0015F ey
_n.002 -
_I 11 I L1 11 I L1 11 I L1 11 I L1 11 I L1 11 I L1 11 I L1 11 I L1 11

—0.0020.00150.0040.0005 0 0.00050.0010.0015



asym_usl

asym_dsl

asym_usr

asym_dsr

run63s52 000

asym_usl

0.01—

0.005—

-0.005—

—-0.005 0 0.005 0.01
asym_usl

ym usl

J.001

0.001—

2.0005—

1.0005 —

| | ] ] ] | ] ] ] | | ] ] ] | | ] ] ] | |
0015 . 0.005 0.01

asym_usl

0.01—

0.005

-0.005—

0.005 0.01
asym_usl

asym_usl

J.0015

0.001

J.0005

.0005

—0.001

1.0015

-0.002

asym

-0.01 -0.0G§ DIEI'E 0.01

malndef ma

ual

0.01 0.01
0.005 0.005
= =
-0.005 -0.005
oo | | | | | Rk B | | | |
-0.0015 —-0.001 -0.0005 0  0.0005 0.001 0.0015 ~0.01 ~0.005 0 0.005 0.01
asym_dsl asym_usr
anmy anmy
- o -
0.001 0.001
7.0005(— 7.0005(—
o o
7.0005 7.0005
~0.001— ~0.001
:I.ﬂﬂ _I 1 1 1 | 11 1 1 | L1 1 1 | L1 1 1 I | I T | | L1 1 1 :l..ﬂﬂ15_ | | | | | | | | | | | | | | | | | | | | |
98015 —0.001 —0.0005 0  0.0005 0001 0.0015 ~0.01 ~0.005 0 0.005 0.01
asym_dsl asym_usr
0.01 0.01 _
0.005F 0.005F
= =
-0.005 -0.005
~0.01— -0.01— .’
_I 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 I 1 1 1 1 | 1 1 1 1 | | | | | | | | | | | | | | | | | | | | | |
~0.0015 —-0.001 -0.0005 0  0.0005 0.001 0.0015 ~0.01 ~0.005 0 0.005 0.01
asym_dsl asym_usr
0.0015 0.0015
0.001 0.001F
).0005 ).0005
Je Je
).0005 ).0005
-0.001F ~0.001F
).0015F ).0015F
-0.002F -0.002F :
_I 1 1 1 | 1 1 1 1 1 1 1 B | | | | | | | | | | | | | | | | | | | |
0.0015 -0.001 -0. n::mE . nnm DD{HE 0.01 ~0.005 0 0.005 0.01
asym_usr

COrre

la

ti

on=scat.png

asym_dsr

0.01

0.005

-0.005

-0.01

—-0.002-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015

J.001

0.001

2.0005

J.0005

-0.001

J.0015

asym_dsr

ym dsr

—0.002-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015

asym_dsr

asym_dsr

0.01

0.005

-0.005

-0.01

—-0.002-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015

asym_dsr

asym_dsr

J.0015

0.001

J.0005

2.0005

-0.001

J.0015

-0.002

—D.D[}ED.D{HE—D.DDLD.D[}DE 0  0.0005 0.0010.0015

asym_dsr




